Chapter 12 — Problems
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12:10)  The equuvalent Ciraut fior carront cal cdaton iz 2R —
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1242)  (onk)) The epuivalind Cirawd for The open Circuit time -
Conatandt a/m,@(«f/w s showon -

e +44

R =10 K $L =0. =
; C=05pF __|.. 2

ol ol

T- ¢, %—+Cz§%’5—+ca 2315 =1.1125 BC = 9.9 nsec

%—'; 21T x 13.9 MKz .

——

= g~

1243)  Assuming Rp=2KQ => YLSB =2V == 1158 = 0,25V

For 0000" inpad , V= (04 0.15) LSB = 0.03%5 |/

For "1000"  anput, Y= (8+015+ 22 18- 2.0625

V4 4 '
For " 1111 anpd, V =(15+0.15+ 0.2)LSR = 333%5 V

o O = %5: 6.5 PV

X



1245)  Lets denote the VOIfa?/z of the node C@mzc‘&hf @, @, 2@

by V- The folowing table shows Vo an a finction #f of; 4T

di | di | Vi
O 10 | -1
0 "\/ss "V(zsz
~Vso | © -1
—Vss | =V | =V

The Vi wawe forms -

g
Al

o B e —
. Ai

—Vsg

— _ )
Al —Vss | _ O(" —Vss l

-1
sz [T _vasz Vasa ~Virs;
Ve 1] v || e

X “ Ve

ower Lopping d; 4;‘4—‘ mn—owlafﬁlhﬁ o <PoTl'

1296)  Let’s dwmote e voltage o) the node connecting @y, Q,  and
Qg by VX .
T
oV {_\.
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